Pricing Structure

Class Rates 15min 30min 45min 1hr

\$9.00

\$90.00

Class Cost - \$18.00 per hour class (GST included) - 1 class @ 1 hour per week.

Term Fees are Calculated on a 10-week Term Basis. Please refer to the Timetable for specific class costs.

Casual classes can be attended at a nominal charge of \$30.00 per class, approved and discussed with management

\$18.00

\$180

Enrolment Fee

Class Cost

Per Term Cost

Enrolment Fee is **\$49 per family**. This fee contributes to insurance, administration, and music licensing costs. Regardless of when you enrol during the year, it is fixed and cannot be pro-rated.

Please refer to the timetable for information on the duration and minutes of each class.

\$13.50

\$135.50

ALL Term Fees are inclusive of GST.

\$4.50

\$45

Major & Graded Ballet Inclusion or Recreational Ballet

Major & Graded Ballet (both classes) is NOW included in the UNLIMITED PACKAGE CAP. Additionally, two streams are NOW available: Recreational and exam-based. For those who wish to do ballet for recreational purposes, upskilling their other genres, you are only required to do one class. Those wanting to work towards the examination need two classes if two classes are scheduled for their grade (refer to the current timetable).

PLEASE NOTE: Extra scheduled competition/troupe classes

If you wish to work towards sitting major ballet exams, you will be required to do two allocated classes at your grade level. Students doing one class only <u>may</u> not progress to wearing/getting the point shoes (grade required), as your child's strength and safety are of priority to our team. This will be decided individually in consultation with the Director/Ballet faculty.

Any extra timetabled competition/troupe classes, meaning those booked on weekdays/weekends aside from the timetabled classes, require additional payment.

Lyra & Silks

- 8-week Course NEW In 2025
- \$150 for those on the Unlimited Cap Package
- \$180 for New Customers Pop up classes on Fridays are extension classes and are a free/bonus for the Unlimited Cap Students.

All other enrolments are charged outside the cap at the normal class hourly rate.

Tiny Tots Dance Education BONUS

Please see the pricing table on this page. The discounted enrolment package fee of \$99 includes the registration fee and a cupid frill dress (the required class uniform). Furthermore, in 2025, we introduced a Tiny Tots Fee package so that you can take multiple classes with your little one at a heavily discounted price.

SAVING YOU MONEY!

Payment Options - Direct Debit via Ezidebit (fees apply)

If special payment arrangements are required outside the payment options and debit schedule, a \$15 administration fee will be applied per term amendment. All requests must be made in writing via <u>accounts_@ambiancedance.com.au</u>

LINK TO PAYMENT PLAN FORM

Direct Debit Dates

Please refer to the Ambiance Dance website for yearly direct debit dates https://www.ambiancedance.com.au/news/direct-debit-dates/

- Tiny Tots Combination classes
- Tiny Tumble Acro
- Tutu Cute Ballet
- Baby Boppers
- **Option 1** Full Payment Upfront. Week 1 of each Term.
- Option 2 Split Payment 50% / 50%. Week 1 & Week 5 of each Term.
- **Option 3** Fortnightly commencing each Term.

LYRA Classes limited to 8 students per class... GET IN QUICK!!

Terms & Conditions

All ADC policies and procedures are agreed upon when completing online enrolment with Ambiance Dance Company. T&Cs are listed below and in the online enrolment interface.

The Terms & Conditions below must be read and agreed to before enrolment.

- 1. Trial classes are \$25 per class with no future commitment. Enrolment must occur at the time of the trial for the trial fee to be deducted from the newly enrolled invoiced term fees.
- 2. All customer information, including invoices, can be found on the Think Smart App. Please refer to this APP for invoices, statements and individual direct debit amounts. <u>PARENT PORTAL</u> (see logins info) (CODE **JHKVFHZ3**)
- 3. Penalties will apply to late payments and broken agreements. A late payment fee of 10% (of your total invoice) will be added to the invoice. If payment is still not made, debt collection will be pursued at a cost to you, the customer.
- 4. A \$15 DDR dishonour fee will be applied if a set DDR payment is dishonoured. EZIDEBIT will also charge a nominal fee.
- 5. To discontinue or transfer classes, YOU MUST complete the <u>Online Withdrawal/Change Class Form</u> two weeks before the end of the previous term. Fees for relevant classes in the current and preceding term will be charged if you fail to comply. Enrolled classes are for the entire academic year. You must notify ADC administration of any changes in WRITING using the above-linked form.
- 6. Refunds or class credits will NOT apply if students withdraw mid-term because they change their mind or don't like a particular class.
- 7. Credits are not applicable if students are on school camp, family holidays or sick; if a credit is approved for any cancelled classes or extenuating circumstances, it will be deducted from the next term invoice or the following year's classes. Credits are only applied at the Directors' discretion.
- 8. The customer is responsible for checking the customer portal for all invoices and scheduled payments. Invoices will be available in the portal before term commencement.
- 9. Once you have enrolled in a class, you are liable for the full-term fees even if you/your child no longer wishes to attend. Suppose extenuating circumstances out of your control require you to withdraw early from classes; a \$85 cancellation fee may be applicable to remove the entire fee liability. In that case, however, it is up to the discretion of management if the \$85 fee is to be applied, resulting in the entire fee liability being waived. Proof of circumstance may be required.
- 10. Failure to pay any fees will result in the loss of your enrolment position.
- 11. Outstanding fees will be pursued via debt collection and possible legal action if accounts remain unpaid. The customer will be responsible for any costs associated with debt collection.
- 12. Cash payments are NO LONGER ACCEPTED for fee payments.
- 13. ADC scheduled classes may differ on public holidays, and in some cases, classes may not be held. If your enrolled class happens to fall on a public holiday, you will still be charged according to the term fees,
- 14. We regret that we cannot take money weekly for term fees. The payment method is via EZI-DEBIT PAYMENT PLANS ONLY.
- 15. Please take note of the Direct Debit table on the website for yearly debit dates. Once the online DDR form is completed, you select and agree to these debit dates per your chosen plan.
- 16. If you have completed a DDR form in previous years, the original payment plan OPT 1, 2, and 3 will remain in place. If you require an alternative payment plan, you must email accounts to change it before term commencement.
- 17. Any extra classes required throughout the year will be charged accordingly. For example, additional exams or troupe rehearsals/classes are not included in term fees. Costs will be advised before the allocated rehearsals.
- 18. Casual classes can be attended at a nominal charge of \$30.00 per class, approved and discussed with management.
- 19. Please be reminded that only with the fulfilment of financial commitments by all ADC members can Ambiance Dance continue to provide first-class tuition for all students. Fee payment plans for the current year must be chosen before the first class your child attends. Any non-financial student before classes commence will not be permitted to enter the class due to insurance constraints.
- 20. Classes with three students or fewer may have an applicable surcharge applied to cover teachers' costs. Running classes with such limited numbers might mean some classes are merged with another class if needed to avoid this cost.

21. Account Details payable to	BSB:	062-692
	Account number:	4546 2619
	Name:	Ambiance Dance Company Pty Ltd

22. Account-related matters must be dealt with in WRITING via email to ensure records are maintained - social media communication WILL NOT be accepted <u>accounts_@ambiancedance.com.au</u>

Tiny Tots Package

Day	Time	Duration	Class Type	Age	Cost
Monday	9:15-10:00	45 minutes	Tiny Tots Combo	2-5yrs	\$ 13.50
Monday	10:00-10:30	30 minutes	Tutu Cute	2-5yrs	\$ 9.00
Thursday	9:15-10:00	45 minutes	Tiny Tots Combo	2-5yrs	\$ 13.50
Thursday	10:00-10:30	30 minutes	Tiny Tumblers	2-5yrs	\$ 9.00
	9:00-9:30	30 minutes	Toddle BOP - Babies	walking to 2yrs	\$ 9.00
Friday	9:30-10:00	30 minutes	Tiny Tumblers	walking -5yrs	\$ 9.00
	10:00-10:30	30 minutes	Tutu Cute	walking -5yrs	\$ 9.00
	8:30-9:15	45 minutes	Tiny Tots - Combo	2-5yrs	\$ 13.50
Saturday	9:15-9:45	30 minutes	Tutu Cute - Ballet	2-5yrs	\$ 9.00
	9:45-10:15	30 minutes	Tiny Tumblers	2-5yrs	\$ 9.00

TINY TOTS PACKAGE \$399 and up to \$540 in value

Sign up early	Classes Available	Toddle Bop: walking to 2 years
and save!		Tiny Tots: 2-5 years
		Friday's schedule has been formulated for the younger Tiny Tots to enable participation in all 3 genres



Petites Package

Day	Time	Duration	Class Type	Age	(Cost
	3:45-4:15	30 minutes	Hip Hop Crew I	6-9 years	\$	9.00
Mondov	4:15-4:45	30 minutes	Acro Level 1 & Circus Skills	Skill dependent	\$	9.00
Monday	4:45-5:30	45 minutes	Acro Level 1-2 & Contortion	Skill dependent	\$	18.00
	5:45-6:30	45 minutes	Drama & Musical Theatre Level 1	6-9 years	\$	13.50
Tuesday	4:00-4:30	20 minutos	Foundation Tap Exam	5-6 years	¢	0.00
	4:00-4:30	30 minutes	Junior Tap Exam	6-8 years	\$	9.00
	4:30-5:00	30 minutes	Pre-Ballet Exam	5-6 years	\$	9.00
			Primary Ballet Exam	6-8 years		
	5:00-5:30	30 minutes	TTA Jazz Exam	5-6 years	\$	0.00
			Pre-Modern Exam	6-8 years	Ф	9.00
	5:30-6:00	30 minutes	Junior Lyrical	5-8 years	\$	9.00
	8:00-8:30	30 minutes	Pre & Primary Ballet extra combined class	5-8 years	\$	9.00
	8:45 -9:30	45 minutes	Petites Tap (general class)	5-7 years	\$	13.50
Saturday	9:30-10:15	45 minutes	Petites Jazz (general class)	5-7 years	\$	13.50
Saturday	10:15-11:00	45 minutes	Petites Performance Team (aged 6 or below on the 1 st of January)	5-7 years	\$	13.50
	11:00-12:00	1 hour	Acro Level 1-3 & Contortion	Skill dependent	\$	18.00

PETITES PACKAGE – 5-7 years

8.25 hours per week of classes available (subject to variations/changes throughout the year)

Sign up early	8.25 hours per week @ \$18/hr	=	\$148.50 per week
and save!	= \$148.50 x 10 week term	=	\$1,485 per term

\$899.00 PACKAGE CAP



Juniors Package

Day	Time	Duration	Class Type	Age	C	Cost
	3:45-4:15	30 minutes	Hip Hop Crew I	6-9 years	\$	9.00
Monday	4:15-4:45	30 minutes	Acro Level 1 & Circus Skills Skill dependent		\$	9.00
Monuay	4:45-5:30	45 minutes	Acro Level 1-2 & Contortion	Skill dependent	\$	18.00
	5:30-6:15	45 minutes	Drama & Musical Theatre Level 1	6-9 years	\$	13.50
	3:45-4:30	45 minutes	Tap Exam - Grade 1 & 2	8-9 years	\$	12 50
Thursday	3.45-4.30	45 minutes	Tap Exam – Preliminary Grade 1	7-8 years	φ	13.50
	4:30-5:15	45 minutes	Jazz Exam - Grade 1 & 2	8-9 years	\$	13.50
			Jazz Exam - Junior	7-8 years		
	5:15-6:00 4	45 minutes	Ballet Exam - Grade 1 & 2	6-8 years	\$	12 50
			Ballet Exam - Preliminary Grade 1	5-8 years		13.50
	6:00-6:30	30 minutes	Junior Plus Lyrical – Prelim & Grade 1-3	7-10 years	\$	9.00
	8:00-8:45	45 minutes	Grade 1 & 2 Ballet Extra Ballet Class	7-9 years	\$	13.50
	8:45 -9:30	45 minutes	Junior Tap (general class)	7-9 years	\$	13.50
	9:30-10:15	45 minutes	Junior Jazz (general class)	7-9 years	\$	13.50
Saturday	10:15-11:00	45 minutes	Junior Performance Team Jazz & Tap (age 8 or below on the 1st of January 2025)	7-9 years	\$	13.50
	12:15 -1:00	45 minutes	Junior Performance Team Lyrical (age 8 or below on the 1 st of January 2025)	7-9 years	\$	13.50
	11:00-12:00	1 hour	Acro Level 1-3 & Contortion	Skill dependent	\$	18.00

JUNIORS PACKAGE – 7-9 years

10 hours per week of classes available (subject to variations/changes throughout the year)

Sign up early	10 hours per week @ \$18/hr	=	\$180.00 per week
and save!	= \$180.00 x 10 week term	=	\$1,800 per term

\$899.00 PACKAGE CAP



Intermediate Package

Day	Time	Duration	Class Type	Age	(Cost
	4:00-4:45	45 minutes	Hip Hop Crew II	10-14 years	\$	13.50
	4.45.5.00	45	Hip Hop Crew III	13-15 years	\$	13.50
Monday	4:45-5:30	45 minutes	Acro Level 1-2 & Contortion	Skill dependent		
-	5:30-6:15	45 minutes	Senior Acro Level 3 & 4	Skill dependent	\$	13.50
	3:45-4:30	45 minutes	Grade 4 - Tap Exam	10-11 years	\$	13.50
	4:30-5:15	45 minutes	Grade 4 - Jazz Exam	10-11 years	\$	13.50
Torregalaci	5:15-6:15	1 hour	Grade 4 - Ballet Exam	10-11 years	\$	18.00
Tuesday	6:00-6:45	45 minutes	Grade 6 - Jazz Exam	12-14 years	\$	13.50
	6:45-7:30	45 minutes	Grade 6 - Tap Exam	12-14 years	\$	13.50
-	7:30-8:30	1 hour	Grade 5, 6 - Ballet Exam	12-14 years	\$	18.00
	4:00-5:00	1 hour	Grade 4, 5, 6 - Ballet Exam _(extra class) (class taken per grade)	10-14 years	\$	18.00
		15 minutes	Grade 3 Ballet Exam	9-10 years 10-14 years		10 50
Wednesday	5:00-5:45	45 minutes	Intermediate Lyrical Grade 4-6			13.50
	E.4E C.20	45 minutes	Level 1-2 Contemporary Exam	12-14 years		12 50
	5:45-6:30		Foundation Contemporary Exam	10-12 years	\$	13.50
_	6:30-7:00	30 minutes	Musical Theatre Level 2	10-14 years	\$	9.00
	7:00-7:30	30 minutes	Drama Level 2	10-14 years	\$	9.00
	4:30-5:15	45 minutes	Grade 3 - Tap Exam	9-10 years	\$	13.50
Thursday	5:15-6:00	45 minutes	Grade 3 - Ballet Exam	9-10 years	\$	13.50
Thursday	6:00-6:30	30 minutes	Junior Plus Lyrical – Grade 1-3	7-10 years	\$	9.00
	6:30-7:15	45 minutes	Grade 3 - Jazz Exam	7-10 years	\$	13.50
	10:15-11:00	45 minutes	Performance Team 12-15yrs (age 16 or under on the 1 st Jan 2025)	12-15 years Routine TBC	\$	13.50
_	11:00-12:00	1 hour	Acro Level 1-3 & Contortion	Skill dependent	\$	18.00
	12:15-1:00	45 minutes	Performance Team 12-16 (age 16 or under on the 1 st Jan 2025)	12-16 years Routine TBC	\$	13.50
Saturday	12.10 1.00	40 minutes	Performance Team 10-12 (age 12 or under on the 1 st Jan 2025)	10-12 year Jazz & Tap Routine from 2024	Ψ	13.50
,	1:00-1:45	45 minutes	Pre-Teen Tap	10-12 years	\$	13.50
	1.00-1.40	45 minutes	Teen Tap	13-16 years	Ψ	10.00
	1:45-2:30	45 minutes	Turns, Leaps & Conditioning	Skill dependant	\$	13.50
	2:30-3:15	45 minutes	Pre-Teen Jazz Funk	10-12 years	\$	10 50
	2.30-3.15	45 minutes	Teen Jazz Funk	13-16 years		13.50
-	3:15-4:30	1.15 hrs	Performers Shield Gr 5 & 6	11-14 years	\$	22.50

	GRADE 5 & 6 – INTERMEDIAT 13.5 hours per week of classes available (subject f		A.
	13.5 hours per week @ \$18/hr	= \$243.00 per week	~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~
	= \$243.00 x 10 week term	= \$2,430 per term	****
	GRADE 4 – INTERMEDIATE PA	CKAGE	
0.	12.25 hours per week of classes available (subject to	variations/changes throughout the year)	
Sign up early	12.25 hours per week @ \$18/hr	= \$220.50 per week	SAVING
and save!	= \$220.50 x 10 week term	= \$2,205 per term	Up to the value of
	GRADE 3 – INTERMEDIATE PA	CKAGE	\$1,170 per term
	10.75 hours per week of classes available (subject to	variations/changes throughout the year)	· · · · · · · · · · · · · · · · · · ·
	10.75 hours x \$18/hr	= \$193.50 per week	°** + + *
	= \$193.50 x 10 week tern	= \$1,935 per term	
	\$1,260 PACK	AGE CAP	

Sub-Senior & Open Package

Day	Time	Duration	Class Type	Age	(Cost
	4:00-4:45	45 minutes	Drama - Level 3	13+	\$	13.50
	4:45-5:30	45 minutes	Musical Theatre - Level 3	13+	\$	13.50
	4.45-5.50	45 minutes	Hip Hop - Crew III	13-14yrs	φ	13.50
Monday	5:30-6:15	45 minutes	Acro - Level 3 & 4 (Senior)	Skill dependant	\$	13.50
Monuay	6:30-7:15	45 minutes	Pre-Snr & Open Hip Hop *	14+	\$	13.50
	7:15-8:00	45 minutes	Pre-Snr & Open Tap *	14+	\$	13.50
	8:00-8:45	45 minutes	Pre-Snr & Open Jazz *	14+	\$	13.50
	8:45-9:30	45 minutes	Pre-Snr Open Lyrical & Contemporary *	14+	\$	13.50
	5:00-5:45	45 minutes	Jazz - Grade 8	14-16yrs	\$	13.50
	5:45-7:00	1.25 hours	Ballet - Elementary	14-16yrs	\$	22.50
Wednesday	7:00-8:00 1 ł	1 hour	Ballet - Open & Pilates	14+ 14-16yrs		18.00
			Tap - Grade 8			
	8:00-8:45	45 minutes	Contemporary - Level 4 or Open	15+	\$	13.50
	10:15-11:00	45 minutes	Troupe 12-15yrs - Routine TBC	12-15yrs	\$	13.50
	11:00-12:00	1 hour	Acro - Level 1, 2, 3	Skill dependent	\$	18.00
	11:15-12:15	1 hour	Elementary Ballet (Recreational & Exam)		\$	18.00
Saturday	12:15-1:00	45 minutes	Troupe 14-16yrs- Routine TBC	14-16yrs	\$	13.50
Saturuay	1:00-1:45	45 minutes	Teen Tap	13-16 years	\$	13.50
	1:45-2:30	45 minutes	Turns, Leaps & Conditioning - Advanced	Skill dependant ed Skill dependant		13.50
	1.40-2.30	45 minutes	Turns, Leaps & Conditioning - Pre- Advanced			13.50
	2:30-3:15	45 minutes	Teen Jazz	13-16 years	\$	13.50

* Senior is inclusive of Sub-Seniors

GRADE 8 & 9 PACKAGE

13.75 hours per week of classes available (subject to variations/chang	jes throu	ghout the year)
13.75 hours per week @ \$18/hr	=	\$247.50 per week
= \$247.50 per week x 10 week term	=	\$2,475 per term

Sign up early and save!

NON-GRADED SENIOR PACKAGE

11.25 hours per week of classes available (subject to variations/changes throughout the year)11.25 hours per week @ \$18/hr=\$202.50 per week

= \$202.50 x 10 week term

= \$2,025 per term

\$1,260 PACKAGE CAP



Senior Package

Day	Time	Duration	Class Type	Age	Cost
	5:45-6:30	45 minutes	Senior Acro	Skill dependant	\$ 13.50
	6:30-7:15	45 minutes	Pre-Senior & Open Hip Hop	14+ years	\$ 13.50
Monday	7:15-8:00	45 minutes	Pre-Senior & Open Tap	14+ years	\$ 13.50
	8:00-8:45	45 minutes	Pre-Senior & Open Jazz	14+ years	\$ 13.50
	8:45-9:30	45 minutes	Pre-Senior & Open Lyrical & Contemporary	14+ years	\$ 13.50
Wednesday	7:00-8:00	1 hour	Open Ballet & Pilates	14+ years	\$ 18.00
	8:00-8:45	45 minutes	Level 4 - Senior Contemporary		\$ 13.50

SENIOR PACKAGE

5.5 hours per week of classes available (subject to variations/changes throughout the year)

Sign up early	5.5 hours per week @	\$18/hr =	\$99.00 per week
and save!	= \$99.00 x 10 week te	rm =	\$990 per term

\$599.00 PACKAGE CAP

